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4-1. Ec7l R . s _
#include <stdio.h> * BADBHODZENZENDEH ZBHIERE VLD
int main(void){

int i; [ alQ], a[1], ---, a[9] ]_ ficall

int a[10]; ? ? 1

for(1=0;1<10;i++){ |

2L [EeoBRCiERA S

« BERNERZLCL>TFPOIERTS
for(i=0;i<10;i++){

printf("%d\n",a[1]); "OER!
} RFFONSBERD, (A X-1)TKRDD
eturn 0; inta(10]; TEHELEASHE,
} a[0]~a[QE TCHOERNEET D




4-2. iBZBFTOH
#include <stdio.h> for(i=0;i<10;i++){

printf("%d, %d\n",a[i],b[i]);

int main(void){ E ) .
int i,3; return 0;
int a[1@],b[10]; ! ¥

int temp; :

for(i=0;i<10;i++){
al[i]=i;

}

for(i=0;i<10;i++){
b[i]=0; ¢——#HA{L

for(j=0;3<10;j++){ ; 7
if(j<=i){_ . 9, @
temp=b[i]+a[j]; b, = Q; 1, 1
b[i]=temp; . ’
} ' A
} 8, 36
9, 45

DR UAIE )L—7 Fd 2 while

« YETIEfor)l—T =Kk o272, WRRICK>TREKDBYRIL—THEFET 3.
« ZTAIBDODIFITSEGwhile)L—TZBNT S

4-3, while)l—7
#tinclude <stdio.h>

while (#GHITE) {

X1;
int main(void){
X2; int i,3;
. for(i=0;i<10;i++){
Xn; j;?i (3<i)
o e = while (j<i
y; |1 REHEDEGSERA. printF("True, );
2.X 1 ~XnZHET. TDRIN }
printf("\n");
- }
for}b_jo)(\:_%@l%\l\(; return 0;
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4-4. RARICKZRITIA

#include <stdio.h>

int main(void){

701, doubleR(C78 D
printf("%d, %f\n",i,d);

//double ->int
d=3.6;

int i; i=d; T lintBUCA B
double d; printf("%d, %f\n",i,d);
//int -> double return 0;
i=5; s %
} ZNTNEBEVPZEHRDOE

BRI BEIZT I £ v 2 S EEZTALTHES

STEORPT—HHNICERDEZZTBLUIEWES, F

— d1Zintil& LTES
-5. F¥ A b (A , -
. . ' |i1%&double® & LTES
Zi! z”‘*%l #include <stdio.h> '
( ) R ' i2=(int)d1%i1;
int main(void){ V' d2=(double)il/d1;
IR DE AT & int i1,i2; '
20D < double di,d2; ! printf("%d, %f\n",i2,d2);
E‘]‘E%%ﬁ'?é i1=5; E return 9;
di1=6.0; '}

S-HE%R
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6. HE-HRZR
include <stdio.h>
dx
nt main(void){ ] dt
int i,3,k; BEE

double t,dt;
double x[2];
double xx[2];
double a,b,c,d;

FILE *fp;
fp=fopen(“output_4-6.csv","w");
dt=0.0001;

a=2.0;

0=3.0; | ){SA—H/E
c=1.0;

d=2.9;

t=0.0;

x[0]=0.4; e
x[1]=0.4; %Uﬂﬁf DQXE

fprintf(fp, "%f, %f, %f\n",t,x[0],x[1]);

: for(i=1;i<=100000;i++){
t=dt*i;
= (a —by)x | [xx[0]=x[0@]+dt*(a-b*x[1])*x[0];

é% = (cx — d)y xX[1]=x[1]+dt*(c*x[0]-d)*x[1];

x[0]=xx[0];
x[1]=xx[1];

if(i%100==0){
fprintf(fp,"%f, %f,
%F\n",t,x[0],x[1]);
}

}

fclose(fp);
return 0;

}
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Python DIRIERES

https://koji.noshita.net/page/compbio/env/envpython/

Python% BB\ /= A48k

https://koji.noshita.net/materials/compbio/example/
04 /plot_Lotka-Volterra.ipynb
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